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Aptitude & Mental Ability Set 9
1. The greatest common divisor of 2x2-x — 1, 4x*+8x +3 is
a. 2x+1 b. x-1 C. 2X+3 d. 2x-1
2x2-x — 1, 4x%48x +3 607 LSLIGIL(H Qug) 6uGHH)

a. 2x+1 b. x-1 C. 2X+3 d. 2x-1

Solution

G.C.D of polynomials 2x2-x — 1 and 4x%+8x +3

First polynomial

p(x)= 2x%-x — 1

when we add (-2x+x) it will give (-x)

p(x)= 2x?-2x+x-1

p(x)=(2x+1)(x-1) here (2x+1) and (x-1) is factor of polynomaial p(x)
Second polynomial

q(x)= 4x%+8x +3

q(x)= 4x>+6x+2x+3 (in this 8x is splited into 6x and 2x )
q(x)=2x(2x+3)+1(2x+3)

q(x)=(2x+1)(2x+3) here (2x+1) and (2x+3) is factor of polynomial q(x)
In both polynomial only (2x+1) is only common divisor with least exponent 1
GCD of p(x) and q(x) is (2x+1)1= (2x+1)

2. Length and breadth of a room are 8 m and 5 m respectively. A red colour border of
uniform width of 0.4m hasbeen painted all around on its inside. Then Area of the border
1s
a.9.76m? b. 12 m? c.10.66 m? d. 5.04 m?

815 Berpd 518 Simevpd Q&ML (H Semmuilest 2L Limong &nnleur 0.415 15605560
FsLIL euessTestTLILIMEmS LLFLIL(HEIMGI. FSLIL euststessTLl Limengullest LIFLILIGTE] Wimg?
3. 9.7615? . 12 152 @. 10.66152 . 5.0415%

Solution
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Length=8,
Breadth=5;

1=7.2 b=4.2

New length=8-0.8m =7.2m
b=4.2
L=7.2

New breadth =5-0.8m =4.2m
Old measurement =1 * b;
= 8*5 = 40 m?
New Measurement =1 * b;
=4.2*7.2=30.24 m?
Area of the border = Old — New
=40 - 30.24
= 9.76 m?
3. Three equal circles of radius 3 cm touch one another in outside. Find the area enclosed
by them
a.10.88 cm? b. 1.45 cm? c. 6.11 cm? d. 29.73 cm?

3 Q&.15 4T(Lp6iTeT eLpedTmI eUL L Mhig6T 66tTemmG@wimestm) QeusflGuw @QgmHbELNg) Heubmmed

GUL(W uGSHuilest LipLiy
1. 10.88 QF152 3. 1.45 Qg162 8. 6.11 Q152 . 29.73 Q&L5?
Solution
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All the radius are same, so it is an equilateral triangle.

The degree for equilateral triangle is 60° = g

V3a?

Area of the equilateral triangle A = ”

A=@= 15.58
Area of Sector ABC=A = %rze
A=ls6+6%2=1414

2 3

Area between triangle = ( Area of the equilateral triangle - Area of Sector ABC)
Area between triangle = 15.58 — 14.14 = 1.45 cm?
4. Sum of the derivations taken from the 1s zero.

a. Median b. Mode c. Mean d. Variance

3. @evL &L . (P50
Q. sqnaifl . 6ll6V& EUTHSHS FINEI]
Solution

The sum of the deviations below the mean will be always equal the sum of the
deviations above the mean.

So the Sum of deviation taken from the mean is always zero.
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5. Mr. X borrowed Rs. 5000-on 7™ of June 2006 and returned it on 19% August 2006. Find
the amount he paid, if the interest is calculated at 7% per annum.
a. Rs. 5140 b. Rs. 5070 c. Rs. 5210 d. Rs. 5280

& (. X etevrLieury 7.6.2006 o651 €. 5000 &3 sL6sTISL QUDHM) 6w 19.8.2006 ist1m) S)(HLOLI
QFenHH6uTT]. DpesoTieM@E& 7% aiFD eully HeTETSSILLULLLTL Seuf QFnsHw QFnens
6T6)6U6T6Y?

a. Rs. 5140 b. Rs. 5070 c.Rs. 5210 d. Rs. 5280

Solution

Interest is calculated after 7th of june to 18th of august, so june+july+august

(30-6)+31+18=73 days

pINET
SI=
100

P=principle, n=no of days, r= rate of interest;

5000 *73 %7

Simple interest=
100%365

=70
Amount = S.I+ Interest
=5000+70 =5070
6. Simplify:logs4 +1ogs Hlo
a.l b.-1 C. -2 d.2

&(H&HGS. logs4 + 1og 5 —

100
a.l b. -1 C.-2 d.2
Solution

By formula, log(x?)=alog(x);

We can convert the (Flo) in the expression to a power of 10

= log (ﬁ) =log (1007)
=log ((10%)7?) =1og (102
Log (102 = -2 1og (10)
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= -2
7. Simplify: =2
' pAty: x2+4x2%+16
x+2 x—2 x+2 x—2
a5 - . C. .
x2+2x+4 x2+42x+4 x2-2x+4 x2-2x+4
BEG%: Ziixzr16
x+2 x—2 x+2 x—2
C ey -2 C. 2 oria -2
x“+2x+4 xX“+2x+4 x“—2x+4 xX4=2x+4
Solution
(a%+b3%)=(a+b) (a?-ab+b?)
=8 is 23.

X3+8 is in the form of (a3+b3),
(x3423)=(x+2)(x2-2x+4)

Factorizing X*+4x2+16 = ((x?+4)?-2?)
=(x2+2x+4)(x2-2x+4)

x348  _ (x+2)(x2—2x+4)

x2+4x2416  (X2+2x+4)(X2-2x+4)

x348  _  x+2
x2+4x2416  x24+2x+4

8. A and B together can complete a piece of work in 20 days and B alone in 30 days. In how
many days can A alone complete the work?

a. 60 b. 50 c.10 d. 45

A wpmib B o SCwny Qenesothg) 6(H Ceuemevenwt 20 mrerflepid wopmib B wl (B sesflwins
2185 Gouemevemw 30 mrsrtlsy|b (lpliLif eTevtlev A L (HLD Sevflwing Hbs CeuenoveniL 6188 6065T
Berflev (pigliLimy?

1. 60 <4. 50 .10 rr. 45

Solution

A and B — 20 days

B — 30days

So, let's take LCM of 30 and 20. That's 60.
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10.

Remember: This 60 unit is the total work to be done.

So, A and B do (60/20) = 3 unit work/day ...(1)

And, B does (60/30) = 2 unit work/day ...(2)

(1)-(2) gives

A does (4-3)= 1 unit/day

So, Total days req. = (Total work)/unit per day

A can do it in (60/1)=60 days.

The ratio of the ages of the father and the son at present is 19 : 5. After 4 years the ratio
will become 3 :1. What is the sum of the present ages of the father and the son?

a. 40 b. 42 c. 48 d. 52

SsliuetT  WHMID  WweemLW  SHCUTmSW  euwdhélenL Cuwnet  alldsw 195, 4
QU(HLMBISEHEGLI LM @& Sieurserlest suwig) 3 :1 eteorm all&si etstTmmsd @ (mHeuiflest HHELMemSL
auWS6tT ol (&S SHTe0S SIT6voTs:.

a. 40 b. 42 c.48 d. 52
Solution
Let the unknown present age be x

The present age of father and son is 19x and 5x, after 4 years it will be

19x+4 _
5x+4

(19x+4)*1=(5x+4)*3
19x-15x = 12-4

3
1

4x =8
X=2
So the sum of present age (19*2) + (5*2)

=38+10

=48

If 13+23+433%+.....+k3= 14400, find the sum of 1 +2+3+ ...+k
a. 144 b. 169 c.120 d. 441
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13+23+33+.....+k3= 14400, et66fl60 1 +2+3+ ... +KedT da (560 6T60T60T?

a. 144 b. 169 c. 120 d. 441

Solution

The sum of first n cubes 13+ 23+ 3%+ ._+n3= (@ )2

_n?(n+1)?
4

@ - 14400

If we take square root on both sides it will come as

nn+1) _ 120

n(n+1)=240

n? + n =240
n?+n-240=0
factorizingn? +n —240=0
n?+ 16n 15n—240=0
n(n+16)-15(n+16)=0
(n+16) (n—15)
n=-16andn=15

n cannot be negative son = 15

n (n+1)

The sum of first n natural numbersis =

11. What is the total area of eight squares whose sides are respectively 5cm, 6¢cm, 7cm, ....,12
cm

a. 650 cm? b. 620 cm? c. 600 cm? d. 675 cm?

5@&.15, 6Q&S5 , 7 Q&0, ... 12 Q&8 uss emaysenens &L 61L(h &Fgrmhigerlesr
ugliuemeygerflest ga(h&ev eTedTenT?

3. 650QF152 3. 620 Q152 8. 600QFL5? T 675 Q&Ls?
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12.

13.

Solution

The sum of square of ‘0’ natural number js 2G040

The numbers are 5,6,7,8,9,10,11,12. It is not in an order so we take the numbers from 1 to

12 and subtract 1 to 4 from it

n(n+1) (2n+1) _ 12 (12+1) (2#12+1) _ 12#13%25
6

Forn=12, then =650

n(n+1) 2n+1) _ 4 (4+1) (2+4+1) _ 4x5%9 _ 30
6 6

For n =4 then

650 — 30 = 620 cm?

Alternate method

Just square the give values and add them

52+62+724+8%+92+10%+112+122=25 + 36 + 49 + 64 + 81 + 100 + 121 + 144 = 620 cm?
Find the LCM of the following:

90 x?yz3, 150 xy3z?, 225 x3y3z

a. 15 xyz b. 15 x3y3z3 c. 450 x3y3z3 d. 450 xyz

LN etT6u(HeuesTeuD 6T LS. GILIM.LD. SIT6BoT.

90 x2%yz3, 150 xy3z?, 225 x3%y3z

a. 15 xyz b. 15 x3y3z3 c. 450 x3y3z3 d. 450 xyz
Solution
L.C.M of 90,150,225 is 450

L.C.M of x%yz3, xy3z?, x3y%z is x%y3z®

The answer is 450 x3y3z3

In a school of 720 students the ratio of boys and girls is 7 : 5. How many more girls are
to be admitted to make the ratio 1:1?

a. 100 b.110 c.120 d. 105
720 wressteurset LUlleyib UeiTerflufled oy esorgHeT WwHMID Guessseflest aflSlgn 75 L.
Qeuail&lgsems] 1 eteot LLIHM sTeuGUETEY GlLIETETHEN6T Fa(hBH6vNE C&FT&HSE6U6TET(HD?

a. 100 b. 110 c.120 d. 105
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14.

15.

Solution

Total students =720, the number of boys and girls be 7x and 5x

So total students is 7x+5x=720;

12x=720; x=60

The number of boys and girls are 420 and 300 respectively

Total number of girls less than boys are 120 so to make 1:1 ratio, 120 girls to be admitted
in the school (300+120) =420 girls

420 boys : 420 girls

And the ratiois 1:1

A number is increased by 22 %2 % and gives 98. The number is

a. 45 b.18 c. 80 d. 81

6(Th 6TevvTEm6TET 22 1/2 % 2 WS gIEUng) 98 HlemLsHmg) sTesilev Sibg eTes0T

a.45 b.18 c. 80 d. 81
Solution
Let the unknown number be X

X+22%%X=98

45
2x100

X +-2X =08
200

X+ X =908

25y =98

200

98%200
X = 2200
245

X =80

A sum of money triples itself at 10% interest per annum, over a certain time. Find the
number of years

a. 10 years b. 20 years c. 25 years d. 15 years

Qm GUUUILL Sigeonsnigl 10% esor(h aully aigsHed erhHement evoT(hS660 CLpstTM)

DL MBISM(GLD?
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3. 10 oy 6v01(hSH61T 3. 20 o4 6vv1(h 6T
3. 25 oy ev01(hG6IT . 15 oy 6v01(hs6i
Solution

Money triples itself then, the total Amount is 3 times the principle,

If the principle is 100 then the Amount is 300 and the Interest is 200

pIN*T
SI=
100

Let the principle be 100 then the interest is 200

200 - 100*10*n

100
N = 20 years
16. Find simple interest on Rs. 10,950 for 42 days at 10% p.a.
a. Rs. 116 b.Rs. 74 c. Rs. 126 d. Rs. 108

erb. 10,950 e16dT) D1F60IEE 42 BILS6T60 Spevotion@ 10% Hevfleully (wemmuiled &HlemLd@Lw
6L Ly eT6uEU6TTEY?

3. ¢m. 116 3. 0. 74 D. em. 126 . ¢rp. 108

Solution
SI = bxnxr
100
10950 %10 * 42
SI= 100+365

=Rs. 126

(n is in days so n/365 should be used )

17. Which of the following is / are true
1) All divisors of a number are also factors for that number
2) All factors of a number are also divisors for that number
3) All divisors of a number need not be factors for that number
4) All factors of a number need not be divisors for that number
a) (2), (3) b. (1), (2) c.(1),(2), (3) d. All the four

E1p&sesuTL6uMMI6IT 6151/ 6Teveu &iflimesig)?

Learning Leads To Ruling Page 10 of 11



http://www.winmeen.com/

Aptitude & Mental Abilit Prepared By www.winmeen.com
p y P y

1) &I 6T6BoTETBTI6HT 6TELEVIT 6U(GHSHBH(ETHLD Sl6uUbleuestTEBDll6tT BMT6TEIBETT(G L.
2) &I eTeswTevBil6tT 6TELEVIT BHMTEUEIBHEHLD 1616 61ETTTEEBI6ET 61(8H G S HETT(GLD
3) e eTevTevDiletT 6TELEVT  EUGHSHHEBD HeuGeuetTTETEllEsT  HMyeTsiLTG S (HSHHH
Capemeuuilevemev
a) (2), (3) b. (1), (2) c.(1),(2), (3) d. SiemerIS I

Solution
All the divisors of a number need not be a factor of that number whereas all the factor

of a number is divisor of that number, so 2, 3 are correct
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